
welq: wn› ỳag© I ˆbwZK wkÿv 

Aa©-evwl©K cixÿvi cvV¨m~Px: 

* cÖ_g Aa¨vq Ck¦‡ii ¯^iƒc, cvV-1,2,3,4,5,6, 

* wØZxq Aa¨vq ag©MÖš’, cvV-1,2,3,4,5,5,7,8 

* Z…Zxq Aa¨vq wn›`ya‡g©i ¯îƒc I wek¦vm cvVt-1,2,3,4,5 

                         evwl©K cixÿvi cvV¨m~Px:  

* PZz_© Aa¨vq wbZ¨Kg© I†hvMvmb cvVt- 1,2,3,4,5,6,7,8 

* cÂg Aa¨vq ‡`e‡`ex I c~Rvcve©Y,      cvVÑ 1,2,3,4,5,6,7,8,9,10 

* lô Aa¨vq ag©xq DcvL¨v‡bi ˆbwZK wkÿv,cvVÑ 1,2,3,4,5,6,7,8,9 

* mßg Aa¨vq                   Av`k© Rxeb PwiÎ,          cvVÑ1,2,3,4,5,6,7,8,9,10,11,12 

    13,14,15,16,17,18,19,20 

* Aóg Aa¨vq wn›`yag© I ˆbwZK gyj¨‡eva, cvVÑ 1,2,3,4,5,6,7 

Aa©-evwl©K I evwl©K cixÿvi aviv I gvbe›Ub: 

1. m„Rbkxj cÖkœ 11wUi g‡a¨ 07wU DËi w`‡Z n‡e 107=70 

2. eûwbe©vPwb cÖkœ 30wUi DËi w`‡Z n‡e 130=30 

   m‡e©v‡gvU                                       = 100 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

AvBwWqvj †iwm‡WwÝqvj g‡Wj ¯‹zj 

wkÿvel© Ñ 2021Bs 

‡kÖwYÑ mßg 

welq: evsjv 1gcÎ 

Aa©-evwl©K cixÿvi cvV¨m~wP: 

* eB: mßeY©v 

* M`¨:  

 K.         KveywjIqvjv 

 L. jLvi GKz‡k 

 M. giæ fv¯‹i 

* c`¨: 

 K. bZzb †`k 

 L. Kzwj- gRyi 

 M. Avgvi evwo 

* Avb›`cvV: 

 K. ‡ZvZv- Kvwnwb 

 L. wR` 

 M. Ly‡` ‡Mv‡q›`vi Awfhvb 

evwl©K cixÿvi cvV¨mw~P: 

* M`¨: 

 K. kã †_‡K KweZv 

 L. cvwL 

 M. wcZ…cyiæ‡li Mí 

 N. Qwei is 

 O. ‡iv‡Kqv mvLvIqvZ †nv‡mb 

 P. ‡mB †Q‡jwU 

 Q. evsjv‡`‡ki ÿz ª̀ RvwZmËv 

* c`¨: 

 K. ‡kvb GKwU gywRe‡ii †_‡K 

 L. mevi Avwg QvÎ 

 M. kÖve‡Y 

 N. Miwebx gvÑRbbx 

 O. mvg¨ 

 P. ‡gjv 

 Q. GB Aÿ‡i 
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* Avb›` cvV: 

 K. `xÿv 

 L. c`¨ †jLvi †Rv‡i 

 M. ‡KvwKj 

 N. wKs wjqvi 

 O. hy×‡ÿ‡Î wcZvcyÎ 

 P. Rv‡Mv my›`i  (bvwUKv) 

 Q. myBRvij¨v‡Ûi w`b¸‡jv (ågYÑKvwnwb) 

Aa©-evwl©K I evwl©K cixÿvi aviv I gvbe›Ub : 

m„Rbkxj cÖkœ M`¨ †_‡K 4wU, c`¨ †_‡K 4wU Ges Avb›`cvV †_‡K 3wU †`Iqv _vK‡e| DËi w`‡Z 

n‡e M`¨ †_‡K 3wU, c`¨ †_‡K 2wU I Avb›`cvV †_‡K 2wU me©‡gvU 7wU | 

1.  m„Rbkxj cÖkœ  107=70 

2. eûwbe©vPwb cÖkœ 130=30 

   me©‡gvU = 100 

welq: evsjv 2q cÎ 

Aa©-evwl©K cixÿvi cvV¨mw~P: 

eB: evsjv e¨vKiY I wbwg©wZ 

* e¨vKiY Ask: 

 K. fvlv 

 L. e¨vKiY 

 M. aŸwb I eY© 

 N. mwÜ 

 O. kãv_© (A¼ÑMv)5=2525=25 

 P. wecixZv_©K kã ( AMÖ ÑDwPZ) 

 Q. m‡gv”PvwiZ wfbœv_©K kã (Ask Ñ Kgj) 

 R. GK K_vq cÖKvk (Awÿi mg‡ÿ eZ©gvb Ñ bó nIqvB ¯f̂ve hvi) 

 S. evMaviv (Ai‡Y¨ †iv`b Ñ L‡qi Luv) 

* wbwg©wZ Ask : 

* e½vbyev`: Ávb ‡KvlÑ 2,5,7,9,10,12  

 K. mvivsk: cvuP, Qq, Ávb ‡Kvl Ñ 3,5,8 

 L. mvigg©: GK,`yB, Ávb ‡Kvl Ñ 7,14,18 

* fvem¤úªmviY: 

 K. jvB‡eªwi RvwZi mf¨Zv I DbœwZi gvb`Û 

 L. cy®ú Avcbvi Rb¨ †dv‡U bv 

 M. wcZvgvZv ¸iæR‡b †`eZzj¨ Rvwb,  

  hZ‡b gvwbqv Pj Zvnv‡`i evYx 

 N. Avgv‡`i †`‡k n‡e †mB †Q‡j K‡e 

cÂg cwicvKZš¿ Ges i³ msenbZš¿ 

 lô c`v‡_©i MVb 

 mßg kw³i e¨envi 

 Aóg k‡ãi K_v 

 beg Zvc I ZvcgvÎv 

 `kg we`y¨r I Pz¤^‡Ki NUbv 

 GKv`k cvwicvwk¦©K cwieZ©b I wewfbœ NUbv 

 Øv`k ‡mŠiRMr I Avgv‡`i c„w_ex 

Aa©-evwl©K I evwl©K cixÿvi aviv I gvbe›Ub: 

1. m„Rbkxj cÖkœ 11wUi g‡a¨ 07wUi DËi w`‡Z n‡e 107=70 

2. eûwbe©vPwb cÖkœ 30wUi DËi w`‡Z n‡e 130=30 

  m‡e©v‡gvU  = 100 

welq: Z_¨ I †hvMv‡hvM cÖhyw³ 

Aa©-evwl©K cixÿvi cvV¨m~Px: 

* cÖ_g Aa¨vq cÖvZ¨wnK Rxe‡b Z_¨ I †hvMv‡hvM cÖhyw³ 

* wØZxq Aa¨vq Kw¤úDUvi mswkøó hš¿cvwZ [ cvV: 1 Ñ 10 ] 

  evwl©K cixÿvi cvV¨m~Px:hš¿cvwZ [ cvV: 11 Ñ 18 ] 

* Z…Zxq Aa¨vq wbivc` I ˆbwZK e¨envi 

* PZz_© Aa¨vq  IqvW© cÖ‡mwmswØZxq Aa¨vqKw¤úDUvi mswkø1 Ñ 18 ] 

* cÂg Aa¨vq  wkÿvq B›Uvi‡b‡Ui e¨envi 

                         Aa©-evwl©K I evwl©K cixÿvi aviv I gvbe›Ub: 

1. mswÿß cÖ‡kœvËi [5wU cÖ‡kœi DËi w`‡Z n‡e ] 55=25 

2. eûwbe©vPbx Ask : 25wU eûwbe©vPbx cÖkœ _vK‡e| [ 25wUi DËi w`‡Z n‡e] 125=25 

m‡e©v‡gvU =  = 50 

welq: Bmjvg I ˆbwZK wkÿv 

Aa©-evwl©K cixÿvi cvV¨m~Px: 

 Aa¨vq welq 

 cÖ_g AvKvB` 

 wØZxq Bev`Z 

evwl©K cixÿvi cvV¨m~Px: 

          Z…Zxq KziAvb I nvw`m wkÿv 

          PZz_© AvLjvK 

          cÂg Av`k© RxebPwiZ  

                           Aa©-evwlK I evwl©Kcixÿvi aviv I gvbe›Ub: 

    1.     m„Rbkxj cÖkœ 11wUi g‡a¨ 7wUi DËi w`‡Z n‡e        107=70 

     2. eûwbe©vPwb cÖkœ 30wUi DËi w`‡Z n‡e 130=30 
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eûwbe©vPbx: 30 

1. KÑwefvM: cvwUMwYZ 9 

2. LÑwefvM: exRMwYZ 9 

3. MÑwefvM: R¨vwgwZ 9 

4. cwimsL¨vb: NÑwefvM 3 

   me©‡gvU = 100 

welq: evsjv‡`k I wek¦cwiPq 

Aa©-evwl©K cixÿvi cvV¨m~Px: 

* cÖ_g Aa¨vq evsjv‡`‡ki ¯̂vaxbZv msMÖvg 

* wØZxq Aa¨vq evsjv‡`‡ki ms¯‹…wZ I mvs¯‹…wZK ˆewPÎ¨ 

* Z…Zxq Aa¨vq cwiev‡i wkïi †e‡o IVv 

* PZz_© Aa¨vq evsjv‡`‡ki A_©bxwZ 

evwl©K cixÿvi cvV¨m~Px: 

* cÂg Aa¨vq evsjv‡`k I evsjv‡`‡ki bvMwiK 

* lô Aa¨vq evsjv‡`‡ki wbe©vPb e¨e¯’v 

* mßg Aa¨vq evsjv‡`‡ki Rjevqy   

* Aóg Aa¨vq evsjv‡`‡ki RbmsL¨v cwiwPwZ 

 beg Aa¨vq evsjv‡`‡ki cÖexY e¨w³ I bvix AwaKvi 

* `kg Aa¨vq evsjv‡`‡ki mvgvwRK mgm¨v 

* GKv`k Aa¨vq Gwkqvi K‡qKwU †`k 

* Øv`k Aa¨vq evsjv‡`k I AvšÍR©vwZK mn‡hvwMZv 

* Î‡qv`k Aa¨vq ‡UKmB Dbœqb Afxó (GmwWwR) 

Aa©-evwl©K I evwl©K cixÿvi aviv I gvbe›Ub: 

1. m„Rbkxj cÖkœ 11wUi g‡a¨ 7wUi DËi w`‡Z n‡e 107=70 

2. eûwbe©vPwb cÖkœ 30wUi DËi w`‡Z n‡e 130=30 

 me©‡gvU=   100 

welq: weÁvb 

Aa©-evwl©K cixÿvi cvV¨m~Px: 

 Aa¨vq welq e ‘̄ 

 cÖ_g wb¤œ‡kÖwYi Rxe 

 wØZxq Dw™¢` I cÖvYxi †Kvlxq msMVb 

 Z…Zxq Dw™¢‡`i evwn¨K ˆewkó¨ 

 Î‡qv`k cÖvK…wZK cwi‡ek I ~̀lY 

 PZz`©k Rjevqy cwieZ©b 

evwl©K cixÿvi cvV¨m~Px: 

 Aa¨vq welq e ‘̄ 

 PZz_© k¦mb 

K_vq bv eo n‡q Kv‡R eo n‡e 

 Aby‡”Q`/Abyaveb: Aby‡”Q`Ñ 2,3,4 (Ávb ‡Kvl),  Abyaveb- 1,2,3,4 (Ávb †Kvl) 

* Av‡e`b cÎ/wPwV: 

 K. Av‡e`b cÎ Ñ GK, ỳB , wZb,  Ávb ‡KvlÑ 29,30,31 

 L. cÎ/ wPwV Ñ cvuP, Qq, Ávb ‡Kvl Ñ 2,3,5 

* iPbv: 

 K. Avgv‡`i RvZxq cZvKv 

 L. RvZxq Kwe KvRx bRiæj Bmjvg 

 M. Kx ai‡bi eB co‡Z Avgvi fv‡jvjv‡M 

 N. `k©bxq ’̄vb 

evwl©K cixÿvi cvV¨m~wP: 

* e¨vKiY Ask: 

 K. kã I c` (KviK I wefw³, m¤^Ü I m‡¤̂vab c`, kãiƒc, we‡kl‡Yi ÔZiÕ I 

ÔZgÕ)                                                                                                    

 L. kãMVb (DcmM©‡hv‡M kãMVb, cÖZ¨q‡hv‡M kãMVb) 

 M. evK¨ 

 N. weivgwPý 

 O. evbvb  

 P. kãv_© (Pjv Ñ nvZ) 

 Q. wecixZv©_K kã (‡Kvgj Ñ njšÍ) 

 R. m‡¤§vPvwiZ wfbœv_©K kã (Kzj Ñ ¯v̂ÿi) 

 S. GK K_vq cÖKvk ( cv †_‡K gv_v ch©šÍ Ñ nbb Kivi B”Qv) 

 T. evMaviv (‡Muvd †LRy‡i Ñ nv‡Zi cvuP) 

* wbwg©wZ Ask: 

 e½vbyev`: Ávb ‡Kvl Ñ16,19,21,22,24,27,30,31,35,36 

 K. mvivsk: cvuP, Qq; mvZ, Ávb ‡KvlÑ10,16,21,24,26 

 L. mvigg©:  `yB, wZb, Pvi, Ávb ‡KvlÑ11,13,16,17,18 

* fvem¤úªmviY: 

 K. bvbvb †`‡ki bvbvb fvlv 

  webv ¯^‡`kx fvlv wg‡U wK Avkv? 

 L. B‡Ui ci BU g‡a¨ gvbyl KxU 

 M. e‡b¨iv e‡b my›`i wkïiv gvZ…‡µv‡o 

 N. mevi Dc‡i gvbyl mZ¨ Zvnvi Dc‡i bvB 

 O. `yR©b weØvb nB‡jI cwiZ¨vR¨ (Ávb ‡Kvl) 

 P. PK& PK& Ki‡j †mvbv nq bv (Ávb ‡Kvl) 

 Q. Aí we`¨v fq¼i (Ávb ‡Kvl) 

*  Aby‡”Q`/Abyaveb: Aby‡”Q`-7,9,17,20 (Ávb ‡Kvl)  AbyavebÑ 6,7,9,10,15,16 (Ávb †Kvl) 

 10 
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* Av‡e`b cÎ/wPwV: 

 K. Av‡e`bÎÑ ỳB, wZb, Pvi; Ávb ‡Kvl Ñ  34,35,37,38,43 

 L. cÎ/wPwV: cvuP, Qq, AvU, Ávb ‡Kvl Ñ 6,8,9,10,12 

* iPbv: 

 K. evsjv‡`‡ki b`b`x 

 L. Avgvi Pvicv‡ki cÖK…wZ 

 M. kwn` wgbvi 

 N. ‡Uwjwfkb 

 O. k„•Ljv‡eva 

 P. 21 †k †deªæqvwi (Ávb ‡Kvl)  

 Q. gv`Kvmw³i KviY I cÖwZKvi (Ávb ‡Kvl) 

                           Aa©-evwl©K I evwl©K cixÿvi aviv gvbe›Ub:  

1. e¨vKiY (eûwbe©vPwb) 130=30 

2. wbwg©wZ :  170=70 

 e½vbyev`  10 

 mvivsk/mvigg© 10 

 fvem¤úªmviY 10 

 Aby‡”Q`/Abyaveb 10 

 Av‡e`bcÎ/ wPwV 10 

 iPbv  20 

   me©‡gvU = 100 

Subject: English 1st Paper 

Total Marks: 100 

[ Figures in the margin indicate full marks] 

Part A: Seen Part [30 Marks ] (Text Book) 

1. Multiple choice question 110=10 

2. Short Answer Question 25=10 

3. Summary Writing 5 

4. Gap filling (Without clues)  15=5 

Part B: Unseen Part [40 Marks ] 

5. Information transfer 15=5 

6. True/False 15=5 

7. Cloze test with clues 0.510=5 

8. Close test without clues 110=10 

9. Matching/make sentence from substitution table 15=5 

10. Re-arranging 110=10 

 

Abykxjbx: 8 

  beg Aa¨vq: wÎfzR  

 Dccv`¨Ñ 1,2 

 m¤úv`¨ : 1,2,3 

 Abykxjbx: 9.1,9.2  ( cÖkœ bsÑ 1 †_‡K 10 ) 

* GKv`k Aa¨vq: Z_¨ I DcvË 

  AbykxjbxÑ11 (1 Ñ 16 ) 

evwl©K cixÿvi cvV¨m~Px: 

* cvwU MwYZ: 1g Aa¨vq: g~j` I Ag~j` msL¨v 

 Abykxjbx: 1.1, 1.2 

 2q Aa¨vq: mgvbycvZ I jvf Ñ ÿwZ 

 Abykxjbx: 2.2,  2.3 

 Aa¨vq Z…Zxq: cwigvc 

 Abykxjbx: 3 

* exRMwYZ: PZz_© Aa¨vq: exRMwYZxq ivwki ¸Y I fvM 

 Abykxjbx: 4.3 

 cÂg Aa¨vq: exRMwYZxq m~Îvejx I cÖ‡qvM 

 Abykxjbx: 5.1, 5.3, 5.4 

 lô Aa¨vq: exRMwYZxq fMœvsk 

 Abykxjbx: 6.1, 6.2 

 mßg Aa¨vq: mij mgxKiY 

 Abykxjbx: 7.1, 7.2, 7.3 

* R¨vwgwZ: beg Aa¨vq: wÎfzR 

  Dccv`¨Ñ 3,4 

 m¤úv`¨ 4,5,6 

 `kg Aa¨vq: me©mgZv I m`„k¨Zv  

 Dccv`¨Ñ 1,2,3,4,5 

 Abykxjbx: 9.2 ( cÖkœ bs 11 †_‡K 15),  9.3  

  Abykxjbx:  10.1, 10.2, 10.3 

* GKv`k Aa¨vq: Z_¨ I  DcvË 

  AbykxjbxÑ11 

gvbe›Ub MwYZ 

m„Rbkxj AskÑ70 

1. KÑwefvM: cvwUMwYZ 20 

2. LÑwefvM: exRMwYZ 20 

3. MÑwefvM: R¨vwgwZ 20 

4. cwimsL¨vb: NÑwefvM 10 
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Subject: English 2nd paper 

Annual Examination-2021 

Part-A: Grammar Test 

1. Word, Syllable  2. Definition of Number 

3. Definition of Gender      4. Parts of speech and its classification 

6. The usage of articles. 

7. The usage of preposition.   8. Tense ,its structures and usage. 

9. Translation class Based.   10.  Idiom and Phrases 

11. Tag question 

12. Transformation of sentence (simple-complex-compound) + Class bessed  

13. Narration (passage)   14. Suffix and prefixes  

15. Right form of verbs      

16. Voice 

17. Make sentence from substitution table    

18. Punctuation and capitalization (From class work) 

Part-B: Composition  

 E-mail Writing: 

a) An E-mail describing the benefits of reading newspaper. 

b) An E-mail to friend advising to be sincere in study. 

c) An email to friend preparation for JSC examination. 

 Composition Writing:  

a) Aim in life. b) Your native village 

c) Television. 

d) Computer 

[N.B: Items of the syllabus are subject to be changed on the basis of 

covid-19 situation and institutional needs.] 
welq: MwYZ 

 Aa©-evwl©K cixÿvi cvV¨m~Px: 

 eB: MwYZ 

* cvwU MwYZ: 1g Aa¨vq: g~j` I Ag~j` msL¨v 

 Abykxjbx: 1.1, 1.2 

 2q Aa¨vq: mgvbycvZ I  jvfÑÿwZ 

 Abykxjbx: 2.1  

* exRMwYZ: PZz_© Aa¨vq: exRMwYZxq ivwki ¸Y I fvM 

 Abykxjbx: 4.1, 4.2 

 cÂg Aa¨vq: exRMwYZxq m~Îvejx I cÖ‡qvM 

 Abykxjbx: 5.1, 5.2 

* R¨vwgwZ: Aóg Aa¨vq: mgvšÍivj mij‡iLv 

Part B: Writing Part [ Marks 30 ] 

11. Dialogue Writing 110=10 

12. Paragraph Writing 110=10 

13. Letter Writing (Informal) 110=10 

   Total Marks = 100 

Half Yearly Examination-2021 

Part A: Seen Part (Text Book) 

* Question No :( 1 - 4) : Unit 1__Unit 6 Lesson All 

Part B: Unseen Part  

* Question No :( 5-6) : Unseen Passage   (From class work) 

* Question No 7: Close Test with clues   (From class work) 

* Question No 8: Close Test without clues   (From class work) 

* Question No 9: Matching   (From class work) 

* Question No 10: Re-arranging   (From class work) 

Part C: Writing Test: 

* Question No 11: Dialogue Writing 

 ● Open a Bank Account 

 ● Importance of Study Tour  

 ●        Importance of learning English. Don't believe a flatterer 

 Question No 12: Paragraph Writing 

 ● Traffic Jam  

 ● Load shedding 

 ● A Winter Morning 

 Question No 13: Letter Writing (Informal) 

 Attentive to study 

 Preparation for JSC examination 

 Congratulating on brilliant success. 

Annual Examination-2021 

Part A: Seen Part (Text Book) 

* Question No :( 1 - 4) : Unit 6 Unit-- 9 Lesson All 

Part B: Unseen Part  

* Question No :(5-6) : Unseen Passage   (From class work) 

* Question No 7: Close Test with clues   (From class work) 

* Question No 8: Close Test without clues   (From class work) 

* Question No 9: Matching   (From class work) 

* Question No 10: Re-arranging   (From class work) 

Part C: Writing Test: 

* Question No 11: Dialogue Writing 
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● Merits and Demerits of Mobile Phone 

 ● Dangers of Smoking  

 ● How to improve in English 

 Benefits of early rising 

 Question No 12: Paragraph Writing 

 ● Our National Flag  

 ● A School Magazine 

 ● A Street Accident 

            ●       Our school library 

 Question No 13: Letter Writing (Informal) 

 ● Describing Your Hostel Life  

 ● Describing the Picnic 

 ● Describing the Annual Prize giving ceremony day 

             ●       Describing the Importance of physical exercise. 

Syllabus of 

English Second Paper 

Class: Seven 

Academic Year -2021 

Marks Distribution 

Total Marks: 50 

SL Detail of test items 
Marks 

calculation 

Total 

Marks R
e

m
a

r

k
s 

Part- 

A 
Grammar Test 80   

1 Find out syllable 0.5×10 5  

2 Changing Number 0.5×10 5  

3 Changing Gender 0.510 5  

4 Fill in the gaps with Article 110 10  

5 Find out the parts of speech 0.5×10 5  

6 Fill in the gaps with preposition 1×10 10  

7 
Making sentence with Idom and 

Phrases 
15 5  

8. Translation (proverbs) 15 5  

9. Fill in the blanks with Tag-question 0.5×10 5  

10 Transformation of sentence 15 5  

11 Narration / Voice 15 5  

12 
Fill in the gaps with suffix and 

prefixes 
0.510 5  

13 
Fill in the blanks with Right forms of 

verbs 
16 6  

14 
Making sentence with substitution 

table 
14 4  

 Sub Total  80  

Part-B Composition    

15 E-mail writing 1×8 8  

16 Composition Writing 1×12 12  

 Sub total=  20  

        Grand Total     (Part A+ Part B) = 80+20 100  

 

English 2nd paper 

Half Yearly Examination-2021 

Part-A: Grammar Test 

1. Word, Syllable 

2. Definition of Number 

3. Definition of Gender 

4. Parts of speech and its classification (Noun, Pronoun,Adjective) 

5. The usage of articles. 

6. The usage of preposition. 

7. Tense ,its structures and usage. 

8. Translation (proverb) class Based. 

9. Idiom and Phrases 

10.  Tag Question 

11. Transformation of sentence (Degree) + sentence types 

12. Narration 

13. Suffix and prefixes 

14. Right form of verbs 

15. Voice 

16. Make sentence from substitution table 

17. Punctuation and capitalization (From class work) 

Part-B: Composition  

E-mail writing:  

a) An E-mail inviting to attend birthday function. 

b) An E-mail to your friend congratulating him/her for his/her brilliant 

success. 

c) An e-mail for cancellation of  a cheque. 

Composition writing: 

a) Wonder of modern science  b) The Season You Like Most.  

c) A Journey by boat 
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